TEhMHRAKBREERFEBEER (TH4FEE)

= | s o - ey e e s PIStE(E ~
SR | R | | FES | BES FRIER S R (RS TR 20EE | FHB0EE | DA | SHEE | SHREE | STAEE =
A101 | 1106 |Fi9RBiEZ=EE (mg/L) SRS REE A REBIER AT O 0.64 0.66 0.69 0.69 0.89 0.74
A102 | 1105 |BAHCEYEREKSEELLR (18, IBEE%) (BAHEEYBEERE/ KEE%EME) x 100 80.0 10.0 20.0 20.0 20.0 30.0
K | AL03 | 1107 |#NUJ\OXS > REKERAELE (%) (= H7KARDE MO R $87K122) / K EEH#EEX 100 27.0 31.0 33.0 28.0 30.0 33.0
= A104 1108 |B#4) (TOC) EE/KBEAEL (%) (Z #a7KeDBE#Y) (TOC) BE/ faKieE) / KEE#EEX 100 36.7 43.3 43.3 40.0 43.3 43.3
,;E; A105 1110 |EEEEEKEEELXK (&, IEE4) (Z fEKIRDEZERRIEE fa/KEEN) / KEE#(Ex 100 0.0 0.0 0.0 0.0 0.0 0.0
- A106 1111 |EEY)EREKEREAELEZR (18, IEE%) (Z #EIKAR DRI EIRE/ #67KAE2R) / KB EEEEx 100 28.7 27.7 24.5 24.5 25.0 26.5
& A107 1113 (BH(EEMEBREKEREELR (&8, IHB%) (Z #E7KE DL BICENERE/ fa/kig2R) / KEE%EXx 100 0.0 0.0 0.0 0.0 0.0 0.0
7 - A108 1114 [ESEIERYIEE/KEREELLR (&8, IHE%) (2 fEKEDHHBRIERVIRE/ fa/K1EE) / /KEE%fEX 100 33.3 33.3 43.3 30.0 33.3 30.0
ES " A109 | 1109 |EREEKEEEEE - max >(Xij/ GVj ) 0.000 0.000 0.000 0.000 0.000 0.000
; B | e | A201 | 1101 |BUKKEERE (188) FKKEERIBE & 156 150 160 160 160 169
= B A202 1102 |fa/kikKERE (BH) BEfERE (BFR/100 km?) |(FA7KKERE (BH) RKEFRE/IRIEHR/KEE)x 100 - - - - - -
N B | A203 | 5002 |E/KEREMRER (%) (SERICER URRKHEDSE / BUCHENEE) x 100 0.0 0.0 0.0 0.0 0.0 0.0
7K 1 ] A204 1115 |EfEfEKER (%) (EfEtaKAE/FE7KHEE) x 100 - - - - - 0.0
A205 5115 [BT7KAE/KEIEER (%) (AT/KAB/KIBIE SR / AT/KAE/KEEY) x 100 - - - - - -
= g A301 2201 [/KIEDKEFHUFER (%) FRIKIFRKE SR 0 0 0 0 0 0
A302 | 1116 [#FREMRUIBLER (%) (FSEME R ERIIBEK R/ FERFKE) x 100 68.6 51.3 77.5 80.9 80.8 79.2
ific i
i %% 3%| A401 1117 |#nRHEKER (%) (PRt KEERAE/HEKMHE) x 100 - - - - - -
B 3]
B101 | 1004 |HSFEEKEE (%) (B SREKBEKE/LKEKE)x 100 100.0 100.0 100.0 100.0 100.0 100.0
B102 1005 |[BUKE1m’Hiz DKRRSISEE (A/m?3) KBRS (IRE U B R/ EREUKE 1.3 1.3 1.3 1.1 1.1 1.0
B103 | 4101 [#FK= (%) (M TF7KiSKE / GERIEUKE)x 100 0.0 0.0 0.0 0.0 0.0 0.0
B104 | 3019 [HEs&FIFE= (%) (—BTEEEKE/HEERAED)x 100 82.7 82.4 81.2 79.8 79.5 84.3
B105 | 3020 |SAHKE= (%) (—BEAEUKE/HEERAE)x 100 87.7 83.0 85.4 92.6 85.7 97.9
B106 | 3021 |&fEk (%) (—BTEEUKE/—HEARKSE)x 100 94.3 99.3 95.1 86.2 92.8 86.1
5 B107 2007 |BOKEEREEE (km/km?) Aok ERR/IREG/KEE - - - - - =
s | B108 | 5111 |EEEsIRE (%) (SR UEEIRIEE / BEREE) x 100 93.2 93.2 93.2 93.2 93.2 93.2
& | B109 INDwA=G & (%) (SR ULTZ/ULTE / JULTHREE) x 100 100.0 100.0 100.0 100.0 99.8 100.0
g | B110 | 5107 |k (%) (FERTR/KE / ERIEKE) x 100 0.0 0.0 0.0 0.0 0.0 0.0
B111 BYE (%) (FERIERIKE / ERIBIKE) x 100 100.0 100.0 100.0 100.0 99.6 100.0
B112 | 3018 |BAUE (%) (FERIBUIUKE/FRIFKE)*x 100 100.0 100.0 100.0 100.0 99.6 100.0
B113 | 2004 |Bo/K:thETERAE (/) FUKthaMSE/—AEIiKkeE 0.21 0.21 0.21 0.22 0.22 0.21
B114 | 2002 [f&7KAO—AM=DEKE (L/8-N) (—BEEKE/ARTERKALO)x 1,000 - - - - - =
B115 2005 [#&/KHIEHEZEL (B) FRIFE/KHIPR E %R 0 0 0 0 0 0
pE2) B116 2006 |[fE7KE K2R (%) GRIEFEKANA/FEK XA M) x 100 - - - - - -
= B117 5110 | EstREMm=R (%) (RRIRBEBREN Bt - BB - STRMEBZRDEETEL) x 100 - - - - - -
= B201 | 5101 [#KISHEHEE (/10 - &) | 10FERIDFKISEIE B / SRKISE 0.00 0.00 0.00 0.00 0.00 0.00
bi::| B202 2204 |SEHESRIKAOSR (%) (SBEEFHIK A O /ARTERRKAL) x 100 - - - - - -
= B203 2001 [#EKAO—ASBZDETEBERIKE (L/A) (BekhBEDEEx1/2 + BRET/KIESE)x1,000/3R1THEK AN - - - - - -
s | B204 | 5103 |EHOFHES (14/100 km)  |ERROBHES /( EIRIEE/100) 0.0 0.0 0.0 0.0 0.0 0.0
5 B205 2202 |EREBROEREIS (/100 km) HREROSHFE/ (EHEREZER/100) 0.0 0.0 0.0 0.0 0.0 0.0
. | B206 | 5104 |BEEROBMEIS (#5/100 km)  |SXEEROBHEE / (BAEEWILER/100) 0.0 0.0 0.0 0.0 0.0 0.0
;‘j B207 5105 |BFEAHEROSBHNES (/100 km) IERHERRDOBHUFE / GFHARERRILR/100) - - - - - -
o B208 5106 |#EKEDEHREIS (14/1,000 1) KB DSHUFER / (faK4%%/ 1,000) - - - - - -
m B209 5109 [#&KAO—AHZDFEMK - EKEFR (BFFE) > (7K - B7KBERE x Bk - EKXigEEaKAO) / IRIEEKAL - - - - - -
B210 K EMTRENFEREHBDOIER (B £) FREIDKE X HKEIFRE O EL 1 1 0 1 1 1
g B211 5114 [BANEREZRE (B/km) SHNAREL / BIKERER - - - - - =
T B301 | 4001 |E/KE1Im3 HizhEHHEEBES (kWh/m?) EHEREOAE / ERETKE 0.59 0.57 0.55 0.57 0.57 0.58
L R | B302 | 4002 |f/KE1m3 HizOEBEBIRILE— (MJ/m?) TRIVF—HES / ERkkE 2.13 2.05 1.98 2.06 2.06 2.09
1z 5 | B303 | 4006 |EkE1m3 =D _BbkE (CO,) HEH= (g - CO,/m3) [CEbiREE (CO2) HEHE / FRIEIKE] x 10° 202 214 188 103 165 162
K | B304 | 4003 |BAREETIRILFE—FIRE (%) (BETRIRILF—REOEHERE / 2HEROEHERE) x 100 0.00 0.00 0.00 0.00 0.000 0.000
) R | B305 | 4004 [KFELLXOBEWFEER (%) (BDFIALE / BKkFELTE) x 100 - - - - 100.0 100.0
it B306 | 4005 [MEBEEMDUHAIILE (%) (DB ILESNEREIES / BREIEMRES) x 100 - - - - - -
" ﬁ: B401 | 5102 |F049-1ILiEHE - HER (%) (PO )EHELE + HELER) / ERER] x 100 100.0 100.0 100.0 100.0 99.5 99.5
w | B402 | 2107 EIRDIERE (%) (BRI E/EIRER)* 100 0.00 0.00 0.00 0.00 0.00 0.00
- B501 2101 [EEMRAFEEEFRKIERE (%) CEEMAFEZIB X TUL\DFKIEEREE S/ 2FKhEE%EES )% 100 0.0 0.0 0.0 0.0 0.0 0.0
= B502 2102 [EXEMAELEEFZEER (%) CEEMAFERZEBR TL\DHM - EX - sTRSRIREDEETEV - - - - - -
o B503 2103 [EEMAFELHBEERR (%) CEEMAFENZIEBI CL\IERILER/EIRER) %100 0.0 0.0 0.0 0.0 0.0 0.0
- B504 | 2104 |BROEHE (%) (B SNZERIER/ERIER)x 100 0.00 0.00 0.00 0.00 0.00 0.00
B505 | 2105 |EBROELR (%) (BAESNEERIER/ERIER)% 100 0.000 0.000 0.000 0.000 0.000 0.000
B601 | 2206 |RGRIDE/KEHRE (%) (BUKRNEBRE /25K EE%EE77) x 100 0.0 0.0 0.0 0.0 0.0 0.0
B602 2207 [HKhEsgDmE(EER (%) (MEXTRDME SN =5k EEREE D /2FKEE%EEST) X 100 4.3 4.3 4.3 4.3 4.3 4.3
o B602-2 IR DT BB SR LR (%) Eéﬁiﬁ;ﬁiji:ﬁ%;gﬁ;E’ngﬁﬁmH“jj+5@®M@Eg@m'§ 52.2 52.2 52.2 52.2 52.2 52.2
&% B603 | 2208 |/R>TIFRDMELER (%) (MEXRDIESN TR TPrEe /ML SRR > TFrEES) x 100 - - - - -
b2 B604 | 2209 |E/KthomiELE (%) (MEMRDE SR E AR/ hEEZEE)x 100 100.0 100.0 100.0 100.0 100.0 100.0
i g | B60S | 2210 |EEEOMRER (%) (MESTEE/SWEE)*100 100.0 100.0 100.0 100.0 100.0 100.0
o | B606 EREROMEEXR (%) (BEHEROSSMEETER/ESHERIEER)X 100 100.0 100.0 100.0 100.0 100.0 100.0
. | B606-2 EREROMBESE (%) (BEREROSSMEES DS 2 EREE/EHERIER)*x 100 100.0 100.0 100.0 100.0 100.0 100.0
;' B607 BEHR/KEESEKEROMEE R (%) (BEEHE/KIMEEREDKERD S SMEEER/EEMH/KERECKEIRILER) x - - - - - -
= e e (EERKEREVKERD S STHEBAE DG 3 B E/ S BAKHER
i]: B607-2 BE /KR EKEROMEESER (%) K EIRIES)x 100 - - - - - =
R | B608 | 2216 |EEEEUKBRER (%) (BHEREER (CHER T = BEUKAEN/— B FHEKE)x 100 0.0 0.0 0.0 0.0 0.0 0.0
o e (FIIBRERITEE/ ZEY —BFFEAZE) X (X(FIERFITEE /183
B609 | 2211 |RimfREHX & H—ATEERE)DS 5. INSWSOME ) ) ) ) ) '
B610 2212 |BRmEBZ (B ERRlETEE/—HRRERE - - - - - -
B611 2205 [IiS2HEKHEREE (/100 km?)  |iS2fa/KHEERE GRIEAE/KIETE/100) - - - - - -
B612 | 2213 |fA/KEREE (&8/1,000 N)  [#8/KEEHy/ (BRIEFR/KAL/1,000) - - - - - -
B613 | 2215 |[EFHADIEKSY>IREE (m3/1,000 N) |E&HBHBKY>ODEE/($8KAH/1,000) - - - - - -




TEhMHRAKBREERFEBEER (TH4FEE)

o | oo - - o " o e PIETEIE n
SR | R | | FES | BES FRIER S R (RS TR2FE | FR30EE | SHEE | SHEE | SFBEE | DI4EE =
C101 | 3001 |EZNZIL® (%) [(EZINZ- e LBNS)/ (BEERA- 2T 158) 1x 100 96.1 100.5 98.9 99.0 108.9 106.1
C102 | 3002 |@EuNszit= (%) [(EIZEUNES + ETEONINS )/ (B2 B + E2IMEH)]x 100 104.4 102.6 103.3 103.8 111.4 109.7
C103 | 3003 |#uRsztt= (%) (HAUNZS /45 B ) X 100 104.4 102.5 103.3 103.8 111.4 109.8
C104 | 3004 |REXIESIX (%) [RIERIES/ (E2IN — SETEINZS)]x 100 210.3 -208.1 -206.9 -206.1 -176.7 -156.6
C105 | 3005 |[@ALLLER (INZSHIUXASY) (%) (IBZENTERAS/INZEHIUNA ) x 100 0.0 0.0 0.0 0.0 0.01 0.00
C106 3006 [f@AELEER (BARMUNAT) (%) (BEARBIERAE/EARIUNAET)* 100 - - - - - -
C107 | 3007 |MhE— A7z D#EKINES (FFA/A) $EIKINZS B EFT RIS 2K 88,425 77,143 76,199 74,933 81,957 86,818
C108 | 3008 |/KINZICxT ZHERSEDEE (%) (BB 58/1E7KINE) x 100 8.6 9.0 8.5 8.1 7.3 7.0
C109 | 3009 |#/KINZEICXT B EREEFBDEE (%) (BRI S /#87KINZE) x 100 13.8 13.3 13.0 12.6 11.0 9.9
C110 | 3010 |#/KUNZICxTT B RMEEHNEDES (%) CRATHEANEE /487K UNZ ) x 100 51.3 51.7 52.6 53.0 47.4 43.7
Cil11 3011 [#E/KUNZR(CHT T DR E D T=HDIEEEE R TEDE! (%) (BRI B DIz D EBEERTE/HE7KINEE) x 100 26.4 27.0 28.1 29.3 27.3 26.3
C112 | 3012 [/KINZICHT I EEERSDOIE (%) ((PEEES/H7KINZ) x 100 678.9 653.9 633.9 615.3 535.2 479.0
g | CI13 | 3013 [RémEmE (%) (fLHa B4 /467K =AM x 100 99.0 102.7 101.6 102.3 112.9 110.1
g | o | C114 | 3014 |gtiamd (F/m>) $ETKUNZS/ERIE UK 2 89.1 89.2 89.5 89.5 98.3 98.2
~ e _ (== ary NA<EE O == e
% i;f C115 | 3015 |#a7KEf (F3/m?) I[;;:;fﬁﬁ;;;D}Eiii&zgmﬂ%umfﬂ%mﬂ RERR = 90.0 86.9 88.0 87.5 87.1 89.2
= | c116 | 3016 |1hnH10 m L DRERNS (M) 1 ME10M Yz DRERNS - - - - - -
C117 | 3017 |1HA20 m’HizDFRERNS (M) 1 M A0mM Yz DRERRIE - - - - - -
C118 3022 [(REhLEXR (%) (REVEE/TRENEE) %100 -53.1 -37.2 -14.0 -8.8 43.9 72.4
C119 | 3023 |BC&AERILLER (%) [(BAZ+BIRE +MEELE & +HBEINE)/ BfE - E48&51]x 100 50.4 51.0 51.7 52.7 53.6 54.7
fi2 C120 | 3024 |EEtE= (%) [BEEE/(BAS+ERS +THEELER & HRIEINZSE)]x 100 201.7 198.4 194.4 190.3 183.7 177.7
f Cl121 | 3025 |BEMEEETEHMENELE (%) f;ﬁzﬁ@tb@m%ﬁﬁ:@mﬁ/ (SFRRMRIDE- SRR 76.9 74.7 76.4 78.9 82.6 86.4
= C122 | 3026 |Ex&EmEx (&) (BN - SETBNG)/ [(HEETEE + PRETERE)/2] 0.07 0.07 0.07 0.07 0.08 0.09
ES C123 | 3027 |BEIEBEERAR= (m*/5BH) FREKE/BRETEEE 9.4 9.7 9.9 10.1 10.5 11.5
1% C124 | 3109 |BWE—AL=0BNKE (m3/\) ERHREIUKE / B RS 992,000 865,000 852,000 837,000 834,000 884,000
& C125 | 5005 |MeZEkmozZIE (f4/1,000 4F)  |FRAIEFEREE / (REBREE/1,000) 0.00 0.00 0.00 0.00 0.00 0.00
C126 | 5006 |wMi&unshE= (%) (RIS MAZE F5228) x 100 100.0 100.0 100.0 100.0 100.0 100.0
C127 | 5007 |@kELrzE (££/1,000 #F)  |#8/KELLAER / ($7K15£5/1,000) 0.0 0.0 0.0 0.0 0.0
C201 | 3101 |AKERMICET 2BIRIVEE (/) BENEVEL CL\3/KERINCET 28182 / 2HE 2.38 1.88 1.25 1.13 1.50 2.13
A C202 3103 |4+EBAAHMERSFRE (BFRE/AN) (BEENINIPIHMEZ Z (BB X ZEALR) / £HE 12.5 17.3 16.3 9.3 11.9 12.3
% - C203 3104 |AEBAAHMERFR (BFRE/AN) (B ENNEPIHMEZ Z (TR X ZEALR) / £iE R 15.9 16.5 14.8 15.0 13.4 18.8
@ | . | c204 | 3105 |mtimmE= (%) (S / 2WBE) x 100 87.5 87.5 87.5 100.0 100.0 100.0
. ; C205 3106 [/KIEZEBFEIDIREREEL (/M) HE B D/KIEXETSRERELR | £hEE 3.0 3.4 3.6 2.6 2.9 2.3
A C206 6001 |ERBIIIREEEL (AN -H) > (ERHREEL x HIEAEN) - - - - - -
M C207 6101 |ERBHIZAEEL (A H) > (EREHAOZAEE x HEEED - - - - - -
= % C301 5008 |tREFZFEE (%) (BFEUKEA—F—E1 /| KEBEAXA—F—&KEE) x 100 - - - - - =
C302 | 5009 |#kigmE=&Zxx (%) (B=EBRFE UKD KIEREED /| £%8/KiE%EE7) x 100 0.0 0.0 0.0 0.0 0.0 0.0
3; s = C401 3201 |[AERES(ICKDIBEHRDIREE (BB/44F) [LERESTR E DHECAEPER / fa/KAFER - - - - - -
; o C402 A2 —2vy MK DIBIROIBEE ([=) T IR—ADBE[EE - - - - - =
L C403 3204 |KiENMERREEDS (A/1,000 A) REE# / REHE/KAL/1,000) - - - - - -
> C501 | 3202 |E—%ZEI& (A/1,000 A) |E=FAZR/ (BEHE/KALO/1,000) - - - - - -
= | B | cs02 | 3203 |7io— NEBEDS (A/1,000 A)  |7>s— NEEAL /) (GBIER/KAL/1,000) - - - - - -
S| B | cs03 | 3112 |mEsvmx (%) (EERAEEE /| 7> — NEIEE) x 100 - - - - - .
f U C504 3205 [KEH—EX(CH I I3HIEGISEES (14/1,000 1) HEH— EXEBRISFE / (FG7K4FE58/1,000) - - - - - -
z =3 C505 3206 |KECH T IHIENISEES (44/1,000 1) IKEHBEWIMFEL / (f87K428/1,000) - - - - - -
> C506 3207 [KERE(CH T DHIBEMISEIS (14/1,000 1) ZKEREEBEIHE / (FaK14E8/1,000) - - - - - -




